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1. A’plano«r druss system has the.dmasons
shown in Eji Member AE is confinuous
and can resist bending. All joints are
pinned. Determine forces in
0) member 8D
L) member DE
¢) member EG

(20%)

2. A 500N force acts on a [50-K3
block placed on Gn inclined plane.
(Rg.2.). The coefficients of friction
between the block and the plane are
/45 = 0,25 anJ- Hh=0.20.

(/45 : coefficient of Static fn‘cﬂoﬂ)
(/‘Mz: cue[f:‘cl'fni of kinetic fricdion)
Determine whether the block is in
x%w‘,ﬁ[m‘um 5 and -f.'nc[ the value ch

4he ‘fr/c{,’ah fvr(e. ({g %)
3,

The S\ls{em shown in ]:33 [ 5ubjec{ecl
B c o a Pou'vn'. load p at B, Ppowt D
P"" ' .T.Jl/z 15 a hinne éoinf,. Defermi'ne the

_ ) reaction af suﬂnr{ A.
D G (15%)
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A conical pendulum ball of weight W

attached 4o ¢ cord of 'lena'Hn L)as
5“0“’" in F‘a-l’—-, is "eVoIv«'né in a
’Aon‘son*al ¢ircle Gt a constant 5PeeJU;.
let the angle formed by the cord with the
vertical be 0. Nej'ecb'ng the weight of Y
Cord, defermine (a) the dension in the
Cord and (b) the speed Vs, In tems of W,

L, and 9, (20%)

5.

Two weiahjts W) and W, ane hung from
A flexible, but inextensible , cord over
o frictionless pulley which moves wpward
With an accelerntion Q (T-;g 5:).Agum;'ng_
that W, » Wy and neg/ea‘:'ng the
l’D{a{:‘ng Lnertia Of the /m//e/, denve
On expression Lor the dension in the cod.

(I15%)
6

Drow the shear and benJhg moment
‘J“aam"\s for the P'rublem shown in

Ry 6. (15%)




